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CHIED DEVELOPMENT AND PEDAGOGY

Th STt~ ety g fyreror faferd
€re are 30 questions in all in this sectlon.
Questions are compulsory-
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1. The theoly of learning Proposed by Albert Bandura is
(A) " Classical conditioning theory
(B) Cognitive theory

(C) Insight leammg | |
YBL\ Social learnmg theOry - | I
SEE ST FRT SRS ST ﬁm?r %

(A)

(C)
3. Which of the following is not included in Maslow s h1erarchy of nee ds?

(A)  Physiological needs o

(B) 'Ind1v1dua.hsm and COllCCthanl gcinc

(©C) Love and belonging

(D)  Self actualization
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‘ (B) Frustration
. \(‘N\ Conflict ' D) Pressﬁre ‘ |
- (C) Anxiety _ ) i ‘ %
T i T W R g
W w B)  Fal
© f=ro | i o th hen Corey ?
5. Which of the following researches is associated with Stephe -
| (A)  Basic research (B Behavioural research
(C)  Scientific research . \('DJ\ ACﬁf)n' rqsegrf:h .
ﬁ%_ﬁ@ﬁfm‘mm%-ﬁﬁﬂﬁ%ﬁ% 2 _.
| -(A) STURYT TqEEE | '(.B) __Eﬂél{lrﬁ%laﬂﬂulq : o
(O I e - D) ‘55*“‘“5:IE SFHE
6.  Remedial teaching is used for which kind of chi_ldi-‘en 2
"(A)  Fast learncrs ' . \('B)\ Slow.\leamers '
(C)  Gifted children - (D) Creative learners. |
'mma%m%qw%mﬂaﬁ%fw}mﬁm% 2
@A) st ¥ e Ty (B) %ﬂﬁﬁ\@ﬁaﬁ o
(O R e D) e ¥ ey ey
7. Playway method of teachin - =

g is based on

(A)  Theories of methods of teaching .
Principle of growth and development

(C) Sociological Principle of teaching

(D)

Physical educétioh Programme

S S i g -
- (B) ?ﬁaﬁ?ﬁﬁmmﬁ?ﬂ?{
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8.  Who was the Chairman of National Steering

(A)  Prof. Kothari | ®) _Peof. Mehrotra
\(e;\ Prof. Yashpal (D)  Prof. Ram Murti
w. . T, QOOSﬁmiﬁqﬁngﬁﬁr%MEﬁqﬁ ?
A)' ooweRt - - ® :ﬂ.ﬁa’ﬁﬂ |
" (© u‘rwqm - : __,(D,.";ﬁ,mqfér"'

9. RTEAct, 2009 is for the children of. which age group ? ?
@A) 5-12 - B 12-18

Q, 7215 = . "Bl 6- 14
3Tr<'2°r‘a‘ st QOOQWWG%%W%W%?

A) “5-12 S B 12-18
© 7-15 . @ 6-14
"~ 10. Which of the following is '-'notAa‘phy_sio}ogicelmbt:ive ?
\t;e.)\ Achievement ) , (B) - Hunger _
(O Thirst S ‘o) Sleep
ﬁm‘rﬁﬁaa =i @ ﬁq-‘&n %%?5 Hﬁqﬁw =|3°r % )
W owwRr e ’I@’
o ww . D) AR
1 1. The psychologlcal ba51s of teachmg learnmg depends on-
j)(]\ Teaching style L TB.k Course Content o
Language -~ (D) Socio- e‘3011011110 status
lﬁmwaﬁmaﬂmﬁmﬁa?mmwﬁﬁwm% 2
@ W‘fr(—rﬁ @ ﬁwaﬁ
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12. According to RTE Act, 2009, the Pupil-Teacher ratio for primary schooly
should be
(A) 25:1 B) 35:1 |
(C) 40:1 _ | 30:1
TRAL. sfurm, 2000 % SR e foemert 3 ferd frerel T S
1 e
(&) 25:1 B) 35:1
(C) 40:1 D) 30:1.
13.  'Midterm Exam' is an exaniple. of
(A)  Creative Assessment
(B) Norm-refc;renced Aésessmént |
\'&1\ Summative Assessment
Diagnostic Assessment
W TS g TN A
(C) AT e D) ¥ i
14, Which disease ig hereditmy ? -
(A)  ADHD _ (B) Phenylkitonurié
(C) Parkinson's

a?‘h-mﬁna”mvm%?

A)  Tdwgd

b
D) T e
15. Which of the following s 4 performance test of Intelligen e ?
TA) Bhatig Battery (B)  Rorschach test
C)  wars o | (D)  Raven's SPM
77777 DI
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16. "Human development goes on for a llfetlmc although tw
but the order of development remains same in normal chil
of development does this statement point to ?

a8 Principle of continuous development

(B) Principle of interrelationship
18, Principle of uniform pattern

(D)  Principle of general to specific responses
memm%wﬁﬂwﬁﬁwqﬁﬁﬁ% WWW
mﬁaﬁﬁ%mﬂmmwww%l”wwmﬁmmﬁﬁmm
A& ? | |

(A) W-Waﬂfﬂ%ﬂ'ﬁ (B) TR sy @l fagid

() Wuﬁmqmmﬁ (D) wammﬁwm

17. Which is the final stage of cogmtwe development according to Jean Plaget ?

o people are not equal,
dren.” Which principle

(A)  Sensori motor stage (R) Formal operational stage "
(C). Post-operational stage (D) Concrete operational stage
Gﬁ?ﬁﬂﬁ%mwmﬁmmﬁqﬁr% 3
(A) Tafee dei ST (B whwareres s

(€ IR ferdree e O T G e
.18. The Father of Genetics is : ‘

) Gregor Mendel (B) © Thomas Hunt Morgan

(C) James Watson (D) Ch?{lesD n

ST & ST €
(A) TR H=d
© S A

(B) UM¥ &< ANy . :
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19 Whe propounded the psychoanal o s;gmund Freud
(A)  Abraham Maslow | (D) Jean Plaget
(C) Carl Rogers W e m ¥ 7
T T fTeASoTee Fﬂ?ﬁ'ﬁ
I (B) fmTe H-TIEIE
i ::3;# o i S |
(C)o old child has mental age of 12, then what would be his .I Q. ?
ear |
B 2)1 J;oo ‘ (B).._': ?0 &
(C) 120 o (D) 110 R -
T 10 7 A A 9 12 & o S g
@& 100 —_— ® 90
&) 120 (D) 110

21. Which of the following i
d1ﬁ'erences ?

(A) Heritability .. | ) B) Innate temperament

(C) Pafent-child relationship - (D) Physical health

mﬁmaﬁ:ﬁmﬁﬁuﬁamﬁﬁmﬁ@ﬁq-mﬁﬁamaﬁ% ?
' (A) Hlﬂaﬁm - (B_)‘ \‘WJWHW _ -
Q STEE-aTe ey ‘(Dj ?Trﬁﬁﬁﬁwma | Sl

22. The cause of Down's syndrome is % R
(#)  Trisomy-20 B)  Trisomy.o;
(&) XXY chromosome (D)

Trisomy-29 -
ST U FH ey & | |

R T S
© xR ) FprEme,
U 1 I
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23. The concept of reliability refers to
[rae] Objectivity of inStl'uctions (B) ' Purpose of measurernent

(C)  Consistency of scores - (D) Uniformity of scoring
et <ht TR oy & |
CRECUCTICEG Lk (B) TIIT I 33
i . N i ¥ . ' ' .
.04, f
N
. "(€) DrawaMan. ' E | (DJ\ MMEPI -
'ﬁmﬁﬁaﬁﬁﬁﬂqmmﬁhnﬁmwmwﬂ% i
| (A) dud ;. (B THHE |
C) -T?Qﬁ:f S ' _‘(1.3)‘ qqqrrlﬁaﬂi
25. Who propounded the theory of multiple ihtelligeﬁce ? h
W Howard Gardner (B’ Jean Piaget
(C) David Weschler = (D)' Erik Eﬁksen’
SRR &l fagr free whaaia e 2 i
A) m@% MR | ?rﬁ=r ﬁmﬁ
© ‘e"l%rgéw S (D). Qﬁmq&aﬁm

_26' .' According to NCF 2005 the main goal of Mathemancs educaum; is
-.(A)  Training of teachers a y
" (B) . Classroom learmng | -
TGL' Mathematisation of Child' s thmkmg

(D) Course content of Mathematlcs

.Q:H?ﬁ@?h‘ 2005 % FAR, nﬁmﬁwwnaaaéw% |
.'(A) WWH@T&%"T o
® W&?aﬁm ® .
© W%W?ﬂ’ﬁ?ﬂw
o) |
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27. Learning through reward and punishment is related FO whic
learning ?
(A) Social learning
N Classical conditioning

e e <vs % e @ dha S % R g & w7
(A) ST g (B)  FRar-Iga gEeH |

(D) . ST fagr
ing during childhood ?

1Bl  Operant conditioning
- (D) Cognitive theory '

(C) WIEHT Fgee

28.  Which of the following is not a process related to learn
(B) Reflection

(A)  Past experience
(D)  Argument

(C) Imagination ‘
Frsfiafia 3 & @ ST ST % AR e § g @ e 2

@) e Wy e
(C) . FoT (D) @&H
29. Which tests are designed to measure the effects of a specific programme or
training ? : . ' S
(A)  Personality " - (B) Intelligence
(8 Achievement | (D) Creativity

30. At which stage of devei ' |
g ge of development O :
adjustment » an individual faceg the problem of vocational

4)  old age : ' _
8 (R Adolescen'ce

(C)  Childhood
(D) Infanc
: y

. ﬁ?ﬂaqa@nﬁqma;ﬁﬁmm et
Y | B) ¥Ry e
© oy _
(D) Ry srereey
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SECTION _
LA%GUage g
There are o ENGLISH

" MeStions in all in his section.

21. Vhich of the
" fA) Vaccum Hleving ords is COrrectly spelt 2 |
(€] Vaacum | (B) Vaccuum
22. The two kinds of Teading g1y, are (D) Vacuum‘
(A) verbal ang Visua] Teading B) | slow and fast reading
165 silent reading ang reading aloyq (D) all of these
32. Which of the follovring i 4 Criterion for selécnon of a writing task to be given to
the students to develop their writing skills 2 -
(A)  Interest of students (B) Levelof the class
TS;\ Both (A) and (B) - _ (D)".None of these
34. Multimedia Tesources do not in¢lude
(A)  Audio resources (B) Video resources
(C) Computers B} Pens and pencils
35.  Who has given the concept of Transformational Generative Grammar P
(A) Edward Sapir B Roman Jakobson
(C) Noam Chomsky (I?) Ferdinand de Saussure
36.  Which one of the following skills uses praise words and 4PPproving Statements tq
tofivate hp afudenta? (B) Explaining sy
(A) Response variation D) Lecturing
(C) Reinforcement

Pagsage ( For Q. Nos. 37-40)

. or pavemeﬁts al
alon s ) ) ong
h ents 210 al edestrians.
or walk on the pavem alk on them are ¢ .1€dP _ S. It is gaf,
e who W
the roads. Thos

) : rowded wj all kin
we are walking. ‘pusy. They &r¢ & N o
) ery cles, scooters, };
. 1y cities arc v motor C¥y > M
Roads in big ¢ three

ars, - ?
i e carriages

driving on
bullock carts, hclars . - 7 =
77777 (AL
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buses, trucks,
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{ the road and

i Peco
ery risky.
such roads is always Vel

, lic or ge
cause accidents. A lot of people ¢ b d
. s is to obey the rules of the road.

i s O
a hurry ignore the rule

ple in everyday. The best

t injured in such accidents

way to avoid accident
3 !
37.  The synonym of ‘pavement is

(A) Road (B) Tralffic
1k
T8) Footway (D) Wa
38. The antonym of ‘busy’is
(B) idle

(A) occupied .

(C) tired

(D) freedom .
« alk on a
Find out the word from the passage that means, “The people Who w '

39.
pavement”. |
(A) Bullock carts (B) Horse carriages
M Pedestrians (D) Vehicles

40. The verb form of the noun ‘driving’ is

\W\d“’ve - (B) undrive

(C) driver ' , (D) none of these
Passage ( Q. Nos. 41-45 ) ¢

The folk dances of Rajasthan are inviting and engaging.-’l‘hey are bound to induce you
to tap a foot or two along with the dancers, Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and lively. They have their own significance and
style. They are attractive and skilful. They are enjoyed by every age group. The people
of Rajasthan love their folk dances.

41.  The words ‘inviting’ and ‘engaging’ are
(A) Nouns : TBK Adverbs
(C) Adjectives (D) Pronouns

42. The sentence, ‘The people of Rajasthan love theijr folk dances” is in the

(A) Simple present tense (B) Present perfect tense
((?) Simple past tense (D) Past perfect tense
43. The word ‘Rajasthan’is a/an
(A)  Common noun TBK Proper noun
(C) Collective noun (D) Abstract ﬁoun

77777 |HIVHREIN v
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17 ' adjectives in
f the

44, Whlch one of the r()ll() mrec d gl'CES 0

their correct form Wing sequences has the

(A)  Lj ;

: ively, more lively most |

R) Lively, i veliest

& ) velier, liveliest

( ) leely, more h.velle :

(D) Liv vTos ligely

ely, more hVe]y livel;
45.  Which of th » ellestly
e fOllOW)ng h it ?

(A) Cust Phrases has a determiner in I

(C oms and- tl‘ad1t10ns (B] Co]ourful and 11‘_76 y
. T}: Attractive ang skilful t®) The folk dances

. € stud
(A) Mu ol 4poach sounds is called
or '
Phology (B). Etymology

S Phonology D Chronology
47.  The phonetic s b ® o

W] ymbol for the underlmed sound in the word ‘shy’ is

(B) s '

48. Choose the correct phonetic transcription of the word ‘boy’ :

;SL /b31/ S ' (B) /bdl/

/bal/ . (D) /bol/

49. “Tlllllebpeon opened the gate.” The correct passwe tra.nsformatmn of the sentence

will be

(A) The gate will be opened by the peon.

IB) The gate was opened by the peon

(C) The gate is opened by the peon

(D) - The gate has been opened by the peon
50. Which question form is correct in its structure ? _ “a

(A) Do you go to college yestcrday ? (B) Does you go to college yesterday o

ay :

(€) Did you go to college yesterday ?. (D) Did you go yesterday college P
51. Measurément is a process OF .. smsvsisaneesess evaluation, ‘

( A) QUalitative ‘ B Quantitatiye

(C) Linear (D) Unitary

uence Of steps in managmg ClaSSroo . )
52. Choose the correct sequ ) areaising: leading m teachmg :
, plannin

(A) Contf-olllng :msmg, contl‘oumg’ minding

(B) Leading. org trolling | Jeaving alone, commanding

(©) Orga_msmg, coO ding controlling

Planning organising, 1
= o
(T |

— 1T Pro.

B— T
B L T

Scanned with CamScanner



S3.

54.

35.

56.

57.

58.
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60.
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tory is used for teac - _
The Languége thl):a ory (B) Listening skills
(A) Speaklng S . (D) None of these

(§), Both (A) and (B)

Which of the following is not tru€ of CCE ?
(A) It focuses on co-scholastic area's also
(B) It promotes holistic developmc-ent'

N It is time consuming and punishing

(D) It reduces stress and anxiety of the students

hroﬁgh tests designed to evaluate

Evaluation of language proficiency is done t
which of the following skills ?

(A) _ Listening, Speaking, Reading and Writing

@ Listening, Reading

(C) Speaking, Writing

(D) Writing

Which of the following is not a principle of language teaching ?

(A) Principle of naturalness - (B) Practice and drill

(C) Learning by doing . T&)\ Copying and pasting

Multi-line approach consists of :

(A) use of models

(B) reaching the same térget from different directions and means

YQ) selection and gradation '

(D) all of these

Which of the following is true about the Grammar-cumn-Translation method ?

M) Mother tongue is used while teaching §

(B) Form is more important than content

(C) Rote learning is encouraged

(D) All of these

Which method s also known as the natural method of teaching English as
second language ? _

(A) Substitution method (B) Bilingual method

(C) Grammar-Translation method (D) Direct method

Which of the following English teaching approaches is student-centered and
Student-oriented ? |

(A)  Communicative approach _ (B) Situational approach

(C) Structural approach (D) All of these
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68. ‘&I’ %R fag 1 v B
(A) & F FUEH & fow
Q) €Y T WO SRS & o

28
) HR-ER

(o) i

(B) aﬁammé?ﬁ"fq
(D) TERM T HURH SR $ 0T

6o, wren feeror fafirat & sm-wi fafer srafives frerer 3wt % fog Frara = € 2

(A)  Ele=eA WuTTet
(C) T Tghy

(B) IS WoUTet
D) - mwé?wﬁr

70. 1 Rreqor # “SRerTens Sqm Ham‘%

(A)  SToTehl ST HIEAT YIS FLgmT |

(B). - SeTeh! I S[der@ feraray

(C) TSI St qe AT 7 Foveqor FEHT

(D) 9T & f9epr & Uigar o

ﬁmﬁf@am%aﬂuﬁwmﬁwnﬁ?sw%wﬁﬁmz

et ferrert ST G o —
 HR-oTEE | galt - -2
_ amazw:mgg =8
-5l FoA-FoT-H1 et @, —4
fererera 1 afeeT <ot T, —-5
] ﬁﬂ%ﬁ%ﬂ’ﬁﬂ?ﬁ— -6
. TY-Tpef 961 79 1 —7
STRT o 1 31w i, —8
mﬁwaﬂm —9
T 3 W T e 2 —10
o g R RRm Gy —11
Eﬁﬁ%ﬁmﬁ wﬁi?ﬂrﬂavm%m€7
fafear =1 - (13_) STfeTehT T
(C} %Frram | Y I
72. WmﬁWW%mmw%D
(A) 3 i | - (B) T @I
(C)  3TTelt =l (D) TRETTH
73. wmla4ﬁmmﬁmmwwg
(A)  ET-HA | (B) GRI-EE
(C) FHR-THE (D) Fer-FA
77777 ([N 444



(A) WWW@W T (B)  STeTSh o TCEE B
(C) Wﬁ%"\? | B D SO, 3 TR F HROT -

(D) WW@W o
79, WA el H qeAqEh & o 169 U 1 smem o )

(c) iU - B T
: ﬁmﬁﬁﬁfﬁmﬁ%ﬁfaﬁﬁmﬂﬂﬁrﬁqaﬁﬁaﬁ%%

o Eemf o B TR
& e T ) swIwEe
%mﬁwmmmﬂmmm%ﬂ%
- Wm : ) ; ﬁ‘ﬂﬂmm
(A) o (D) WA ey
(C) HRE - [424

e




[ W
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M g
el ©
82. ‘W’ﬁmm%mmﬁgfﬁﬂéﬂ%
(A) et - forg
s e | (D) ™ . : F & [l
83. gﬁ%ﬁmmmﬁmm%maﬁmﬁﬁa}w
forcre e BT Wiy e ST ¥ SO wEA & |
) P faw (B 3E
) oo g (D) U
ga. 3 % YR W 197 & o9 @ &
(A) 9 (B) U
(C) 3B (D) =R
g5, fAffEd # @ihife &
(A) T T A (B) eI
(C) TUH IR G smR (D) T & |
86. ‘™M’ V= I WY fawdg & o
. (A) T+ A B) fg+ amam
© fa+am (D) =T + M

W@W%WWW#@T@@QO%%WW:
Wﬁ?ﬁ_ﬂﬁﬂ@ﬁnﬁﬁaﬂﬁﬂﬁmﬁlﬂ@ﬁmmﬁﬁ | feTor 3mpiehT T
ﬂnﬁum%mmwﬁﬂaﬁmmﬁ@maﬁnﬁmm@
D nwaﬁﬁwmﬁ?@mwﬁﬁﬁﬁ@mﬁmwsﬁm'mﬁﬁ
I | 57 W el A off A w7 9, af o e wE @
T & el T feen rmw‘wﬁm%mmm?ﬁaﬁaﬂ@m%
%mwﬁmfmwﬁ@waﬁﬁmﬁ@wgmqﬁm | 3= el
| ‘Wﬁ@w%wmléﬂﬁaﬁﬁwm |
87. mmﬁaﬁrmﬁaﬁ@&@ééﬁ%m%ﬁmww% '

a) fafm , (B) URMER
©) T () ferfer

88. "I well A $aR % i fopy e o e v 3
A g | (B) WW
(C) Sifdaras d@wr (D) SATwETES G5

89. T T s | | f a
S WW@W%.WAWWWIWWWﬁW
(A) 38 e B AR g
(©) I e . (D) 9T “dehTet

' g

| A ﬁﬂ'{?{ + - |
((c; fﬁh ?ﬁﬁ g E?T@: ?;:rf
ceem | T 444
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61.

62.

63.

64.

65.

66.

67.

7777 |l

31

SECTION - III
LANGUAGE - II
ENGLISH )
There are 30 questions in all in this section.

All questions are compulsory-

ent but as a

st .

tea,
.
.........
tea

TS| (B) Group evaluation
“ Peer e‘valuation (D) CCE evaluation

What do You think about the two candidates in this election ?” This is an
CxXample of

N Open endeq question (B) Close ended question

(C) Both (A) and (g) (D) None of these
Which test items consist of a stem, the correct affswer, keyed alternative and
distractors ? n exam S | ﬁ

(A) Diagnostic te p \tB)\Mult.iplc choice test

(C) Close test (D) Oral test

The remedial English classes arc'vcry helpful for the students who are

(A) below the age of 18 years

\(Bl unable to achieve the required grades

(C) poor and can't get formal education

(D) rich and can afford co_mpufcr
Feedback is always
(Bl Formative

(A) Su mmative
(D) Objective

C) Annual |
- han’ is oneé of the categornes of
‘Petrarch ‘ P
(A) Ode (D) Drama

Sonnet
TSL of pure¢ vowels 18
The number 5 10

1

A (R 12

(C) 11 N
ﬂillllllllw | PT.O.
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68.

69,

71.

72.

73.

74.

75.

76.

STL-1
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are called
P11 0.6, [ 1 1/ 2 (B) Voiccless consonants

Voiced consonants Q) Impure vowels’

(A)
ound of the word :

(C) Pure yowels he underlined s
Choose the correct phonetic symbol for the

-y ' west/
(A)  Jwot]/ B) / foser
e o rU'~ iven words :
Find out the word which begins with different sound from othe_r g
Reach (B) Reap
(D) Read

\‘C{ Rich

“When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?
(B) Personification

N\ Alliteration
(C)  Simile (D) Metaphor

What device is present in the line “If ought of oaten stop or pastoral song” ?

(A) Irony \tBl\ Assonance

(C) Paradox (D) Alliteration

“She was a phantom of delight.”
Which literary term is used here ?
(A) Elegy

TSJ\ Metaphor (D) Sonnet
“As green as emerald” is an example of , .

(B) Simile

(A)  Allegory _ (B) Hyperbole
(C) Satire | R Simile
“Peace hath her victories

No less renowned than war.”

What is personified in these lines ?

(B) Renow_ned

(A) Victories
(D) Less

YS). Peace

Which of the following containg the same vowel sound ?

m\ Bite — kite — site - (B) Bill — bell — ha)y

(©) Like — look — luck (D) See — 8ay — sick

N |
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7.

78.

79,

80.

81.

83.

33 IE

The . e
communlcative approach in teaching of English has been practised and

deveIOped in
(A)

India ang China (B) India and Sri Lanka
(©)

C s . %
hlna and Japa.n Tm France and Britain

Whi : ,
hich one i 2 challenge in the process of teaching English language class ?
M) Less interestin

g teaching style (B) More interesting teaching style
(C)

Reasonaple time management (D) Good lesson preparation

The i
CXcessive use of mother-tongue is -

1;96\ helpful in learning English

\(Bj\ a challenge to learning English

(C)  a substitute of learning English

(D) none of these

“The teaching material shbuld .be in accordance with the mental age and should
have relevance in rea] life situations.” The statement refers to

(A)  Principle of habit formation

(B) Principle of selection

(Q) Principle of gradation

(D)  Principle of controlled vocabulary

“Two roads diverged in a yellow wood .

And sorry I could not travel both

And looked down one as far as I could

To where it bent in the undergrowth”

The rhyme scheme of the above lines is

(A) . abaab _ . B A
’TS.]\' ababa _ (D) Abbag
give him an answer if he had asked me.
T e esesppeaensss?
& (B) - may
(A) uld D) might
© e co

e the alternative which best expresses the Meaning of idiom / phrase

Choos "
nderlined in the sentex?c .
u him after a long time, but he gave me themld\Shoulder-”
“ et hi
y olded (B) Abuseq me
(A) Sc (BY Ignoreq me

(C) [nsulted M€

— o
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by (B) Drama
- (A Conflict | .
N i ds happily.
85. A form of drama that is intended to amuse and that en P
W) Tragédy (B) Comedy
(D) Irony

(C) Biography
Passage ( For Q. Nos. 86-90 ) : : . :
Kalaripayatt is a traditional art practised in Kerala. Though clajms of %ts ljxeavenly
origin are disputable, foreign travellers mentioned Kalari being practised in K“” al"’_‘ as
early as the 13th century, which makes it the oldest martial art to be in €xistence.
Kalari is considered to be the most complete and scientific martial art and is the
mother of all martial arts, Bodhidharma, a Buddhist monk from India, introduced
Kalari into China and Japan. What makes Kalari unique is the fact that it is much
more than a martial art, A student of Kalari learns philosopby, medicine, attack and
self defence and, abovye all, learns how to avoid confrontations, where he has to attack
somebody or defend himself. : , ‘ i
86. A student of Kalarj learns ................ philosophy ....... v attack and self

defence. . ' \ :

Fill in the blanks with the help of given options : ,
o (B) either — or.

- (A) neithe_r—nor .

\('S}'\not only — but alsb . (D) as—as .
87. Kalaripayatt belongs to India ............. . Karate belongs to Japan.
(A) that | - L T whereas
© it S (D) when
88.  Some people still .......... of Kalari's heavenly origin.
(A) claimed . | - claims
(C) claim ' T - (D) were clairhing.
89, Kalari the oldest martial art to be in‘existence.
Nis. . % | ' " (B) was
(C) were : i . (D) are
90. The most suitable title for the passage is
(A) Drawing and Péinting ) M Mother of aJ) Martial Artg
(C) Table Tennis o (D) Lawn Tennis
77777 [N - [4aa
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SECTION — IV / @08 - IV

MATHEMATICS / aftrel -
There are 30 questions in all in this seC

All questions are compulsory:

g @ug § T 30 T 6

it e Tt

91. The non—tcfminating recurring numbc;.-lol- 123 is equal to _the fractio;‘i,
o w &
© 5 - PG

123
A -
A 1000

37
() 300

92. The cost of 16 coi
. . L i & " -
. (A) 4 coinsofRe. 1+ ' coin

“('BQ\- 3 coinsjof Rsi 2+ 8coms of 25 pa;se |

((5) . 3 coins' of Rs *2 +.6-¢coins'of 25 paise

(DII) . 2 coins ol{@.tf‘* ﬁjc@lnbtoftfﬁéglether !
soﬁﬁ%laﬁlﬂaﬁwqu%
Ay 1T 4 e+ 2 T 3 fe

.Qﬁﬁsfiﬂ%msﬂﬁﬁ?sﬁ#'

© 2@"3%'.;3%3%;25@#6%#‘

o) 2w o e 17 F o fE
|4 P.T.O.

—cal [T
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| - 44 | '
@ o : : bers 2° 3 3 is
. - ) 1 e =
93. The right descending order of the folbwmg num‘ 7’13’6

f . 325
@ 2215 B 1376
- 25 3
. 2 L2, =
@ $32 . o 233
frey demat %,%,gw@mﬂﬁ%’q% -
52 3 ’ 325
WoeTs I
5 32 . 25 3
94. The value of 1—-—..(2%;4%),13
A v B -15
. . 17 ‘ N e L 17 -
c =L i
€. -3 L. __(D’. 30
13- (p2_ .8 "
= (23 GJWW%
9 9
A . m ) 3 s et
T A S 1
c) -=L . gt e
@ =z . B g

95 The greatest number Wthh d1v1des 244 and 2052 such that it leaves remainder

. 4in each case,is ‘ |
@. 12 IS G
(© so720 (D) 15360,

‘,ag‘}@aé?@n ﬁu@244ﬁmzoszﬁﬁﬂrﬁﬁ$ﬁwmf@%ﬁ4ﬂw

T &, d'a'ﬂ@f‘%‘

(C) 30720 (D) 15360

~rzrrr (NN 244
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96.

97.

777

~ (A) 88mcm

(@ ‘176mcm”

M

ak 45 P
o e ' .5 o for 2 years an
8 monthloall of RS.‘Q,O()'Q at the rate of simple intcrcst 8

T Sf then total amount to be returned by him will be

A. ' '

(C) RS 11,04.-9.‘ - . | (D) Rs. 12,060 °
}.a.ﬁ.g."ooo-\soammB.S%Wm_ﬂﬁ2ﬁ8W$Wm,-ﬁ3@W.

A) 2,0 | |
(&) 2,040 Fo . (B) _.3,060%°

_TGK 11-,_04'0“&{ (D) 12,060 %0

A cylinder of height 4 cm is formed éfter 'fold'mg' ( ﬁrithoﬁt ‘overlapping ) a

22 cm * 4 cm rectangular paper, then curved surface area of this-cylinder, is
2 ' (B) 88cm?
(D) 176 cm?
e 2 et x 4 5 ST 1 G (Bt b, e 4 Qo S
e | 7 S T RS GENTERN
| L2 (B) = 88cm? .
N g8 mcm o :

g (D) 176 cm?
176 ™ c™ -

(€

77 T | o —_—



98.

99.

. : t
In the given figure lines AB and CD are interse roD = 25°

STL-1
* 0. If OF and- OF are
then £COF is

if ZE
angle bisectors of #/BOD and £COB respectively, and i

equal o
A D
E
C B
(4) . 130° (B) 65°
(C) 105° < (D)  50°

T for % ey ag cp, &g 0 W uftdw st &1 A o @ oF AW

<BODTN £COB¥ RN ¥ w§ 9% LEOD = 25°, At L COPaTRR & |
A

(A) 130° °
(C) 105° E (D) . s50°

Area of a square field is 6400 m2 The dlStanCC travelled by a person, in

S rounds on its perimeter, is

B (A 320m (B) 160m

ey IO (a3

| (C) 1-6 km | D) 32km

@mﬁmwmmooaﬁﬁ%'wwﬁsmwﬂmmﬁaﬁm -

5 TR o W T gL g
() 320m (B) 160m | 1

Y€ 1'6 km - (D)

32 km




M

. . 4 i
ox1m, by a tap with speed

1l a water tank of size 2 ™ x 1-5

IOIOA Time taken to fi

A) 9 minutes ' | (B) 1 h‘our 30 minutes
(C) 60 minutes | (D) 2 hours 30 minutes. |
'_melsmxlmwaﬁqﬁ%ﬁﬁﬁﬁmzo / ‘ i B
T ey
S| , ’
\\ offe . g » (B) ;1%1113_301?4?3
.. C ‘ V - = ‘ ) ‘ o,
101, "Mathermari o - S T T e .
A athematics is the mirror of civilization and culture.” This statement is said b
d Dy
A ‘ - . o B -
(A) 3&(:0{1 | : : (B)  Berthelot
C ‘_ ] 2 ’ . . . . ’ -
(€) Hogben - (D) . Bertrand Russel

T e s e i 1 e o 7

m\éah—rr (B)aeia‘i?:
© BT WA (D). ai’“@@?'f
1.02.. : ":'T.‘he act of corﬁbining s-‘><"JPE-3I._ at:? par ts Thls method 18 Called
'\, . tA) | Analyt1c Method . (B) Synthetlc Method
(C) Laboratory Method (D) I:'1'01‘3“ MEthOd ‘

mmwﬁﬁml"wmw%

ﬁsﬁwﬁ@ | tBL E““'m‘
'(C') f rﬁﬁl (D) qﬁzﬁa—rnfqﬁq
244 ]

T N .
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B .
(B) the corrept 1dent1ﬁcat10n of causes of problem
- (e} knowledge of ] Nguistic rule
s -
(D) ~ remedia] teachmg rnateri:cus
SRR foragor o e e PR w3

1. Identlﬁcatlon of Situationg

2. Selection of objectives _

3. Selection of evaiuaﬁon Methods
4. Interpretations of evidences

S.

Constructioné of evaluation devices -

(A] 2’ 1: Sr 5,4 (B) 2’3! 1; 5’4 ‘

© 235,41 o D) - 3,2,4,5,1
ﬁ'ﬁaﬁnﬂhﬂ%@qﬁaﬂﬂﬁmaﬁrﬁ=
1. oRRerfrt = v

3. Wﬁmﬁw
4_ O Y ST .
= ks | . '(B) 2,3,1,5,4

2', 1:73, 5! 4

(A) ‘
it
77777 ﬂMWWWMMMI
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; B ers .

He reaqds as follows :

Thirty Slx for ty six, forty cight, forty twenty
The T€ason for error in reading is that

(A)  the student does not like maths class and finds the class boring

(B)  the student has understood the concept of place value and its‘use also

(C). the Student is not fit for study of maths

(D) the student is not able to understand the concept of place value and feels

comfortable using two-digit numbers only
ﬁﬁ}w@%ﬁﬁmﬁﬁ%ﬁimww -
306, 406, 408, 4020

_wﬁs%www

.FI"WE mt—rﬁﬁg TR o1, =T
qﬁﬁg&wm%% o

(A)A wﬁnﬁmﬁmﬁﬁﬂﬁwﬁaﬂtmmw% '

Wﬁmﬁqmﬁwﬁwm%wmwtﬁ

(B)
(C)
LA -

| - .
77T .|||l|ﬂﬂ||||||1|]’|||ﬂ|| _ |



107,

- 108,

50 . is
106. 1, and one hundred and 01
© digit form of one crore one lac one thous
(A] 11111101 -(.BJ 10101101
(©) 10010101 D) 11101001
h f'Ememwm'@mmm%
N e, (B) 10101101
:C). 10010101 - . (D) 11101001
R !
g IPS is multiple of 3, where Pis ten's digit, then the greatcst value of Pis
A) g
| ' B 3
© 6 :D)) g |
zﬁ:‘?311» |
S, 3 11111;[
‘ w %WPWWW%HWWWW%
‘(-A)\ 9 - ‘ .
' o Bl S
o o SNL - o) "5
Value of 25419 X83-2545 is -
@ e | | |
3 B 1
| o B 795 _
Bowe e D) 239l
A 5
25+12x33-25+5 H U &
A 1218 - (]'3-)' vl
(C) 416 . o ‘D) 230l
| ( =

109.

77777 T

'I‘he least number Wthh is dmsnble by the numbers 1t 1(;,
o is

(A) 1680 B 840

WG)\2520 £ 7 (D) 5040

%ﬁ?ﬁ@ﬁﬁﬁﬁm%ﬁlﬂlowﬁm@ﬂ "
g g

a) 1680 (@ s
(D) 5040

[444]

'(C) 2520
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umber 6032 1045 is equal to

110. MUItiplica'ti()n of pl 3, 4 and 5 in the 1

ace values of

(€) 60000 (D) 60000000

V&I 60321045 1 3. 4 qen s % g Tl @ ARt R &

(A) 60 (B) 600000
- (C) 60000 ' R 60000000
111. The difference between the greatest and the lowest prime numbers of two
digits is
(A) 88 , ~ (B) 86 . : -
(€ 89 (D) 95

3 S TG T 9 T I e Fen ¥

(A) 88 | B) 86

(C) 89 B, 95
112. If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pené is -

(A) Rs. 1,500 - (B) Rs. 150 |

(C) Rs.125 (D) Rs. 1,250

afe 12 g9 AT 1 e 720 T €, A 25 T I e g

/ (B) 150 %o

(A) 1,500 bo

e, 1257 (D) 1,250 o

3 The average weight of 5 students is 40 kg. If one student of weight 50 kg has left
' he average weight of remaining students is .

11

them, then !
! B 375k
" 0 ke (B) | g
_ (D) 62:5kg

| [aa4]
P.T.O.

77777 (VAR
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@ ) | : '52 ' s gig STl
szﬂa}aaaﬁmmwm%mﬁmﬁ |
%.ﬁ‘rﬁsrﬂ??arra’faﬁraﬁuawm

(4) 50 kg YB) 37-5ke
(C
114, H-; pjz kg By 6455 of the
ot 1:ct is sold on 10% proﬁt at selling price Rs. 330, then COSt pﬂce
(A)  Rs. 360 (B) Rs. 363
© Rs. 207 ‘ (D)  Rs. 300 SR
g 10%_Wﬁ%mn@330.m W A S &, A I A I e @
(A 360 %0 o - EER .

(B) 363%0

(©) 297 %o - 7&)\ a0
. 0'50
: . : } .
15. In a school under shramdan carnp | L -

12 students clean for 7 hours. If equal part =

- (B). 12
o |
Q) 16 (D) 15

wﬁamﬁwmﬁﬁ?%mhm@ﬁ7m%maﬂ?}%m&mﬁm
._5H@ﬁwmﬁﬁmﬁmaﬁwﬁrﬁw
bc\kl{ S o ® 12
(© 16 | D -"15-.

16. How. many bI‘leS of measure 25 cm x 16 cm . x 10 ém
are re

‘wall of size 20 m Iong, '5 m high; 50 cm th1ck ‘while there qulred to make 5
are

omx 1-5m m the wall 3 two doors of size

'/w-’ f17s0 . (B 11000

() 117500 o, =

. ..,.:.....-1unulllllllll'lmm | V 444 x



QO%WS%‘ sq Wi

m%%mﬁ wmsow%wmﬁﬁWZﬁ\HKlSIﬁu
2sﬁq}x1awxlowmﬁmﬁ§aﬁanmﬁahﬁv

(A) 11750

© 117504 (B) 11000

(D) 97500
' £0PQ= 100 and ZQRS = 140°, then ZPQRis equal to

S

—
L

N
7

| (A)' o YBL 60° -

@ D) 50°

f¢@ & fa= § op||RS, £0PO = 100° e ZORS = 140° T £PQR SRR &

>
>

)4 S
) |

L
Cd

(A) 80° |

(D) . S50°

© 7 | | |
lication of two decimal numbers, such, as 0-4 x 02 = 0.08, an
P

118. For multi ool to explain the concept is

riate teaching-learning t

b (B) Number)chaﬁ
1 k
Dienes bloc
(A) ' (D) Graph paper
. star (abacus) .
Counting S
(C)

, P.T.O.

et TR A L s v e
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@ 54 = W’ﬁ h fere 3fard
o =0-08 il GHCTT
3V gt WEail 1 U O 0-4 x 0
Fereror-atfrmy gy &
(A sEfRE s B
@ FE () 00 gy W OR
119. Which of the following represents 9, using tally marks ?
@a WM W 1| W
() W R I

et ferelt 1 St e qu et @ W e o FY SRR wl 2

GV B Mo
) - W 1 , M m W M

120. If monthly salary of a person is Rs. 24,000, central angle of the sector, showing

the expenditure on education by pie-chart is 60°, then the expenditure on

education is
(A) Rs. 4,000 (B) Rs. 8,000

(C) Rs. 3,000 (D) Rs.6,000

| @wﬁﬁﬁméﬁﬁzmoob'ﬁo%lmﬁwm%&mﬁq@@ém@ﬁ
mﬁﬁm@@wﬁﬁﬁwémﬁ,a‘rmmﬁmm |

’ N 4,000 %o (B) 8,000 %o
(C) 3,000 %o (D) 6,000 %0

o ' [244
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|
|
|

SECTION - v JCLER |
ENVIRONMENTAL STUDIES / 9diavuT AT

T
here are 30 questlons in all in this section.

All questions gpe compulsory

Wmﬁ% 30 W ¥
- mﬂ“‘ﬂ&ﬁmﬁ%l'

121 Who is the first woman of the W0r1d who cl1mbed Mount Everest successfully

from the Kangshung side ?

b

~ (A) Bachendri Pal - (B) Santosh Yadav

(C) Premlata Agrawal " (D)  Arunima Sinha

= FTE2

A TWEUE

W) WHEAdT AT

122; International Bm-dlversﬁy Day is celebrﬂted on

. 7 _ 23rd May -
(a) - 2lst.May Let's do it Together !
(C) 22nd May . _ p) 24t

'WﬁaﬁaﬁﬁwﬁwmﬁqWW% f

" "2-1'14'% | @ 23@
. A 4
C) 2 W o

B 11111111 o

P.T.O.



STL-1

[ . 56

123. Radio broadcasting in India started in the year

(&) 1926 B 192_%
(C) 1928 | (D) 1929
Wﬁmﬂ‘eﬁwaﬁ@mmaﬁﬁ ?
(A) 1926 . (R 1927
©) 1928 (D) 1929
124. Which dise:;se is caused by the deficiency of _Vitamin—A ?,
(A) Scurvy - (B) _Nightblir.ldness-‘
(C)  Rickets (D) | Beri-beri -
‘ m-mwammmém% ?
@ o \fBl L .

-

© frea (D) W
125. Which is the biggest planet of the solar system ?

‘mj\ Jupiter - (B  Saturn
© Uranus (D) Neptune

Scanned with CamScanner
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e .
IR FH-TE ?

(A)  Tewly B) S
(C) 315y D) T
126. Princj .

rinciple of Specific to General' is used in

() Inductive methoq (B)  Synthetic method

(Q) Heul‘istic method (D) Analytic method :
ﬁm@m’wmmwmﬁwm% 2

'm-\ s fafy @) Hvomu fafy

() TEa: vy fafy D) Taveror fafy

127. Ranikhet disease is associated with

(A) Fishes | ) _ ) Honeybecs
(C) Hens D) Pigs'
e T R et € 2
| \., - (B) AR
(A) Haferdl ‘
g T _‘
| piotic corﬁponents of environment ar¢

128 ™ t - (B) Mountains

ants
w | (D)  Rivers
Fields .

C) |
‘ 44| _
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129. Disadvantage of deforestation is
(A)  Increase in soil erosion
(B) Decrease in soil erosion
(C)  Increase in number of wildlife

D) Increase in rain
FAE T goRoTT §
M\ M W F gig
(B) TRT W H FHHf
©) Wﬁaﬂﬁsﬁﬁmﬁq&
(D) a1 H Fhg ‘
130. Opium is obtained from

: )ﬁ)\ Papaver somniferum (B)

(C) Cinchona }QJ\ Centella asiaticq

SR fREd A1 il @ ?
@A) 9arER G (B) WE‘W

Aloe verg

() fgmer
m—cal |

444
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131.

132.

.

o TR

= e e
B

(A)  2ngq Octop e Mission launched ?
(€)' 2nd g, S (B)  2nd October, 2014
Ober 20
’ 15
2014
Ty qu (D)  15th August,
F I o 1 o
(A) 2 T
' 2013 T8 2 IR, 2014
€ 2 3]313[{
» 2015 (D) 15 37T, 2014

Match th i
e followmg and choose the correct

(i) Amoebiasis
(1ii)

(iv)  Cholera

Tuberculosis

(a) Entamoeba histolytica
(b) Mycobacterium tuberculosis
(c) Plasmodium

(d)  Vibrio cholerae

A -  G)-@ G- () o)
B) (i) - (c) (i1) - (b) (iii) - (@) (iv) - (d)
(€) ()-(a (- (b (iii) - ()  (iv) - (d)
(D) (i) - (c) (ii) - (a) (iii) - (b)  (iv) - (d)
Rrfiad @ gafera Y adr Te H1 95

(A)
(B)
(C)

™

P

(i) HAREr

i) & |

5

(iv) el

- -
q-© @0
g-@  @-e
(i) - © - 18

(iii) - (d)
(i) - (@)
(iii) - ()
(iii) - (b)

(a) WUZIHIEN e ieRles
(b) FRHERINGT SEFETEg

(¢ IreHIeEH
" fE xa
(iv) - (b)
(iv) - (d)
(iv) - (d)
(iv) - (d)

| P.T.0.
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133. The house made of snow is known as

(B) Rain Basera

(A) Igloo
(C) Green house | (D) . Basera
% § ST T 6 HEA
W ¥ o (B W
© &R | o) W

134. District of Rajasthan, which shares its boundary with maximum number of

districts in the state ‘is | . |

(A) . Bhilwarg - (B) Ajmer

(C) Bmer : (D)  Nagore

TSI &1 e, st g & stfusram Rt 3 @y Y T H# T € ¥

(A) HietErer | R

(C) ®TEW (D) AR

The set of clothes which are worn without stitching is

135.

(A)  Sari, Shirt, Cap (B)  Turban, Sari, Kurta

(C) T-shirt, Lungi, Cap (D) . Dhoti, Sari, Turban

@ @RI @ ‘“’émﬁf‘ﬁ’r
"~ (C) ﬁ-ﬁ,@ﬁ’ﬁ }D{ Eﬁ?ﬁ,q@’m@

[444]

w ot et m
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137. Who was the first Indian astronaut ?
(A) Kalpana Chawla * (B) Sunita Williams

(C) Rakesh Sharma (D)  Raja Cheri

TH IR 3faier aEt B 9

(A) T = ' ®) e fak
\b@{ GG . D) T
138. Which of the following forts of Rajasthan is also known as 'Chidiyatunk’ ?
(A) Ranthambore fort (B) Mf?hranga_rh fort
(C) Kumbhalgarh fort (D)  Sonar fort

‘ SN mm%_msﬁaﬁ‘fafgq@%mﬁ%ﬁmm%?
A oo 71 7 B) HeTE g

€) gooier G 31 | (

P.T.0.
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139. Water day is celebrated on
ber
L d Septe™
(A)  22nd May (B) 220
: arch
(C)  02nd February o) 220dM
e fqew fopw oy e e & 2
) 22w oy 22 e
Q) 02 WY - - ?B)\ 22 AT
140. Which of the following enzymes is present in saliva ?
(A)  Pepsin ' (B) Trypsin
(C) Lactase (D)  Ptyalin

ﬁ“ﬁfﬁﬁﬁﬁ@ﬁ#ﬁw,mﬁmﬁm%?
@ ¥ L ® Hwm
© www W) e

141. Following traffic sign indicates

(A)  Cross road

(C) Railway crossing

444

7rzzr (KN
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'}Q\ SEEaty (D) T e
142. Which deity (Lok Devta) of Rajasthan.is known as 'Deity of camels’ ?
(A)  Gogaji (B) Ramdev ji
(C) Pabuji . (D) Bhomia 31

rore 3 R T ) e A 5 @ o o 2

() T S - B) Eed S
‘(Q{ arq i (D) it S
143. 'The wildlife Protection Act’ was enforced in India in the year
_(A') 196'2 B) 1972
© 1982 () 1992
' ﬂ‘ﬂﬁammaﬁ;ﬁm'maﬁaﬂgma
o - B) 1972
1
m (D) 1992
! 1982

o E5 ‘
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144. The organisation which publishes the 'Red D2
(A) ICFRE B) WWF
(C) IUCN (D) UNEP

sit st = Y et g sl A 8, 9 GEA &

(A) 3TE G TH ¥ 3 B) T=ge=dT®
(€ oy }&\ g
145. Who coined the term 'biodiversity' ?
(A)  A. G. Tansley (B) | E. Haeckel
(C) R H. Whittaker (D) W.G. Rosen

Sta-ffarea (aratergatadt) W fart e o 2
’(),\ q. . et - £ det
(C) ¥R. TI. eEra (D) =Y. W Ao

" 146. Select the festival from the following which is celebrated on the full moon of

Shravan ;

()  Diwal ()  Holi

(C) Maha Shivaratri (D) | Raksha Bandhan
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148.

(C) Ty
ﬁmﬁ : \(Su\ &1 4

Sitabari fair ( K
bari fair ( Kumbha of Sahriya tribe ) is held at

(A)  Arnod — Pratapgarh

(B) Chauth ka Barwada — Sawai Madhopur

(C) Kelwara — Baran

(D)  Pushkar — Ajmer

HATaTEl 1 Hel (FeRar S & §W) SRl o €, 8

(A) OWUIE - AT TYBh T T AT - FeTE AR
<) W@T‘aﬁ ' " (D) Eﬁw_{-aﬂ'ﬁ'{

State tree of Rajasthan is

A thjari - (B) Neem
(C) peepal B s
et AT T E
; ® M
™
(D) AR
qrad

C
( ) _aonit A E
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M
' : py pancreas ?
149. Which of the following enzymes is 10l secreted by
(A)  Renin (B)  Lipase
(C)  Trypsin (D)  Amylase

Priian # 3 w1 G R T A R G € 2
w ¥ m e

(€ fefogm (D) UHEE

~

150. National Aquatic Animal of India is

(A)  Gangetic Dolphin (B) Whale
(C) Lion (D) Chinkara
HRA T AL STeitg wroft &
W T e B &
€ D) ﬁ:-—en"m
77777 W | —
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